L. (Sopts,)

A)  Define joni
ei i :
B). Rank thOTf\lzatlon énergy, electron affinity, and electronegativity?
s € following elements in terms of EA, IE, EN (1=highest, 3=lowest) Cesium
s), Boron (B) and Fluorine (F)?

C) Why do alkali metals have lower ionization energies than halogens?
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2. (s0 pts)

A
) V(\:IZ':: th:cz?oenk;’_e;ix;efg}/l 9of electrons ejected from a Thallium surface. The
i =) X107 J, and the wavelength of the incident light is 250
::e“r/ Will doubling the intensity of the light (the number of photons with
8Y hv per second Per unit area) change Kinetic energy of the ejected
electron ang Number of ejected electrons per second?
C) Whatis de Broglie wavelength of the ejected electron from part A)?
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3 (S0pts)

A) Sketch the blac

 body radiation energy density p(A)as a function of

B) cv::,\;e h for two t.emperatures: 1000K and 5000K on the same graph?
iy lack bodies, one with temperature T=1000K and the other at
e > USINg Wien’s Law, Apay = 2.9x10°%/T mK?, what are the frequencies
0 of the brightest, i.e., highest intensity, radiation.

Explain what Planck did to solve the ultraviolet catastrophe problem?
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4. (Sopts,)

A)  An electronina1.p

=1.0 nm,
square well potential box of length L
is excited to nd

i lue) of this
excited state, what is the energy (eigen va

how |
State? : wing the nodes., . X«
¥ iy By e s o thlstic::/e;os:;ced, i.e., what is the | \A Ve
d where are
Mmany nodes are there an
distance of each node from x=0?
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T ctron at a no ‘
C) Finally, what is the probability of finding the ele
explain why it has this value?
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